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Q.1 When the two hands are at right angles,
they are how many minute spaces apart’?

ik AR ER HHOhIUI I Bt &, AT 39 o1 fohd
e T 3(dL glar g7
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Q.2 How many times are the hands of a semzey
clock at right angle in 12 hour? ( ) \
12 5 H F21 T AT Toha=T ST GHFRIT 9T N

Il 872

A)22
B)24
C)44
D)48
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Q.3 How many times in a day, are the hands of a clockm

stralght line but opposite in direction?

e T # TRl oY SIS shl AT 9Lt T@r | i

H Bl g7

A)20
B)22
C)24
D)48
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Q.4 How many times do the hands of a clock coincide in

a day? /DN
v fo O ST it gt fhaeT 9T U " St 872 (:'J/g




MISSION SSC GD
CONSTABLE 2023

Q.5 A clock rings once at 1 o'clock, twice at 2 o'clock, thrice at
3 o'clock 1.e., it rings the same number of time, the time In the
clock. How many times the clock will ring in 24 hours ?

Teh Tl 1 a9 Teh 1<, 2 a1 & d71E, 3 &9 did 1€ aoidl g TAq1d
g I g1 THT Foidl &, ForaT a9 =27 ¥ grar g1 24 5 § =87
TR ITE dol? (A)48

( /-.;-'\\\53 (B)150

jo\CL Lo (C)156
S (D)200
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Q.6 The last bus from Meerut to Delhi leaves at 10:00 pm if the buses are
on leaves at the same interval of every 3 hours and there are 6 buses in
total then when will the third bus Ieave for Delhi?

| N aN

HYS | faodl A sfaw a9 10:00 &1 ATl %’q [ a5 g 3 9<% g

AL I AT & AL A 6 T8 3 AT JTET oF faoedt & (ol s LT g ?
(A) 1 AM.

(B) 7 P.M.
( (€) 1P.M.
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Q.7 A tortoise walks 1 Kilometer in 4 hours, rests for 20 minutes after

each Kilometer, find how long it will take to cover a distance of 3.5
Kilometers?

U egell 4 B H Teh (heA[HI2Y SRRl g, T fehettHieT & a1e 20 < 3H
FLAT 8, 3.5 ThalTHIET 1 T T FZA H IH Toha |1 HT TERIT?

(A) 14 HOUR

7~ B) IOUR

<\:'\(C)1540U?

(D) 12 HOUR
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Q.8 If the number placed at the dial of a watch is

replaced by letters in alphabetical series in such a way

so that 'M' has come in place of 9 and thus 'N' has

come in place of '8' and so on. What will be the letters

those come in place of digit '11' & 10" ?

i TohdT TT o ST 9L TG MU Fd< [ GUHTAT 57 6

I I 2T T q3A feaT 31U o 9 & 1= 9T 'M! T (A)X and W
3 ST T '8' & T TN aTGrrqaﬁ‘{aﬁ(mgl FFH11" B)W andX

TS 10" 3 TITH UL AT ATl AT T F 72 \ EC)X and Y
' (D)V and X

\
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Q.9 An image of a clock is appearing in a mirror. It was 05:25 at
that time in the clock. If the image shown in first mirror is again
shown is another mirror, what time the mirror image in the
second mirror will show ?

TI0T | U FE! ] Ao Q@S < W@T gl 1 8 39 99 05:25 a1
@i.aﬁqgﬁ?{chffﬁ@‘%ﬂéaﬁ fﬁw‘{ﬁ@ﬁ‘{?ﬁﬂﬁ@%ﬁﬁﬁ
g, Al 39 U § TUr i fohe 93 |<u9| a%ﬁ. TP n—

[ {2 \ (B) 20 minutes past 5
/\: 'é (C 35 minutes past 6
(D)30 minutes past 6
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Q.10 If the Real time is 6 pm then what will be the mirror time in
this situation?

i 3

(@N
SIEETGE R RS

T6asgd

= TETd # 9o

quT F auu’q
\/

(A)12:30
(B)6:00
(C)6:30
(D)12:00



MISSION SSC GD
CONSTABLE 2023

Q.11 If the Real time is 3 pm 15 minute then what will be the
mirror tlme In this situation?

gﬁ-rrr')
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Q.12 The angle between the minute hand and the hour hand of
a clock when the time is 4:20 is. T~
ST T 4:20 21 qT =St 7 THAC 67 2 30T 5 6T q2 6 A= FT, |
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Q.13 At what time between 4 and 5 o'clock are the two hands of
the clock together?

4] 5 S & A Tohe 9T FET 6l AT G2 AT T 1 glal a2

(A) 27?1 minutes pe

7 /4 — - NS 9 . f
<;\.:._y/z}\> =) 1%1 minutes pe

\ .
(C)1q1 minutes pa

9 .
) 191r1m|nutes pas
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Q.14 What would be the smaller angle subtended by both
hands at 20 minutes past 05 ?

05 asTsh< 20 TH=E 9 AT STAT FTXT ST AT BT 0T F7

SIIT?
(A)
( = \> (B)45°
(C)50°
()
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Q.15 WQe%tMr§lé<§ '%yEmis%rQe%%d bigger needle with

smaller & smaller needle with bigger one. He came to know that it was
02 minutes past 6 in the clock. What was the correct time ?
Tel aGd GHT Uk A= o gt ge hl SIel oI il &l 1 = a7 fordm 39

N [

TAT AT {oh T2 H 6 o1 02 THAE BT T &, Tl THT F47T AT?

%

(A) 20 minutes past 11

a (B) 30 minutes past 12
> ©

-/ (D)

Sea

=/
|«

I’%T‘\ 30 minutes past 3
- 40 minutes past 2
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